<« Ei&%/90°THL - SR SR/ ARIRL
< SEHINPTIRE!/SEHIJICIREL/RHIORF SERLY

BT EEL

LR iRk

TR

K2

@ 12T iERESL N HIRS: Bk @ 12T iR L KR BB Bk
KB g3 R (A E] E3id) [
WSD51 B3N WSD53 RN
_ouY LN B B il | LS e 4
wspsz| M Sus3os wspsa| B sussos @W?‘ "
il e
L L \WW
_A_ B A B
= FQ = zoo( L Lol
| L | R
: s =1
AR =1 UL = @
WfaingE: S0/ Mt $—0N/
BE ERE BHE ERE
B | mus | 5MED M Al s @ T WE | sMeD M A | B | L | s
06 6 | M12x1.25 24 14 10 10 | G1/4"x19 | 12 7 | 25 19
08 8 M14x1.5 8 14 14 G3/8"x19 | 13.5 8 29.5 22
wsDs1 | 10 10 | M16x1.5 " 25 17 wsD53 [ 18 18 | G1/2"'x14 | 16 10 |36 27
wsD52 | 12 12| M18x1.5 29 19 WSD54 gg 22| G3/4"x14 | 185 i?-g 32
14 14 | M22x1.5 | 12 | 12 | 325 | 24 28 : 12 -
18 18 | M27x1.5 | 13 3 | 30 ZL Gi'x11 | 205 45.5 | 41
@ BB QIR 90 SRSk @ LA iERE L EFINPTIRE
(A4 E] g3l MR (9] Bl [zi5d
WSD56 ] WSD41 B
wsps7| M Susaos wspaz| M sUssos
‘ D
il
i S
5 e -t
R
MetnE: E—0m MEpiRE: S0/
B ERE B
- A M L L M A L s
KB [ WE SMZD { z R@E | BR
08 8 Minde T s2e |15 0s | 7174718 5 20 7
WsD56 | 10 10 M16x1.5 24 19.5 WsD41 | IIRCE WA 2RSE 192 2l 22
WSD57 B B VTR o Wabas 16 Z1"x11.5 255 36.5 36
14 14 M22x1.5 29 25 20 Z1.1/4"x11.5 26.5 38.5 46
18 18 M27x1.5 325 29.5 32 72" x11.5 275 435 65
@ LT B RSk £ CIRLY @ #LidiE Rk S HORF SIRLL
K13 Eidl [215d € (9] Bl [215d
WSD43 B WSD45 | B @
wspaa| M Susaos N\ -,,; wspas| B Susaoa —
Y % B —
L | — L Sa«i
A = A T
= e 1S
: = © s =1
e MR E—0 FRAXGD MetaE: S0
B =
B | mE M A - S £8 [ mm M A L S
04 7/16"x20 1 20 12 04 9/16"x18 9.8 16.8 17
08 3/4"x16 16.7 25 22 08 13/16°x16 12.8 21.8 22
Wenis 16 1.5/16"x12 23.1 34 36 Wande [ 12 1.3/16"x12 17 27.4 32
20 1.5/8"x12 24.3 38 46 20 1TA1/16"x12 175 270 46
32 2.1/2°x12 33.9 51 65 24 2'x12 : : 55
@ EElgiEREL mHEgs aheL
e — - REHE
wm [ | EPEsSED e
8-
EREmTs WSDs [GD 14 RN GD)

WSD53— 14




	页 13

